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Addingto Ten Name:
Solve each Problem. Answers
g +5=10 ? +3=10
— — 1
2,
9 +4=10 9 +1=10
- — 3
4.
K +9=10 o +8=10
- 5.
6.
K +2=10 K +7=10
7.
8.
K +0=10 96+ =10
9.
10.
W7+ =10 29+ =10
11.
12
B1+ =10 Yo+ =10
13
14.
P2+ =10 94+ =10
15,
16.
N5+ =10 93+ =10
17.
18,
98+ =10 Y6+ =10
19,
20.
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P Tp——— Adding to Ten Name: Answer Key
y +5=10 > - . 3210 Answers
1 5
) 5 +4= 2 /
6 +4=10 Y 9 +1=10
3, 6
9 1 +gs .9
1 +9=10 % 2 +8=10
5, 1
78 +2= 8 ; -
10 ) 3 +7=10
7 8
% 10 +0=10 M6+ 4 =10 ’ -
9. 10
)74+ 3 =10 1294+ 1 =10 10. 4
11. 3
31+ 9 =10 9 0+ 10 = 10 12. 1
13. 9
15 24+ 8 =10 19 44+ 6 =10 14. 10
15. 8
5+ 5 =10 18 31+ 7 =10 16. 6
17. S
98+ 2 =10 206+ 4 =10 o
19. 2
, 4
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|

Addingto Ten Name:
Solve each Problem. Answers
b +0=10 2 +4=10
- - 1.
2.
K +9=10 K +3=10
- - 3.
4,
> +5=10 ® + 7=10
- 5.
6.
" +6=10 9 +1=10
7.
8.
9 +2=10 W8+ =10
9.
10.
D6+ =10 P9+ =10
11.
12,
B1+ =10 W2+ =10
13.
14,
W7+ =10 93+ =10
15.
16.
MO0+ =10 B4+ =10
17.
18.
¥8+ =10 5+ =10
19.
20.
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P Tp——— Adding to Ten Name: Answer Key
D 10 +0=10 2 6 +4=10 Answers
T 1 10
9 1 +0= 2 6
1 +9=10 49 7 +3=10
3, 1
5 5 4 5= 4, /
5=10 % 3 +7=10
5, 5
7) 4 + 6 — 8 o 3
A 10 ) 9 +1=10
7 £
% 8 +2=10 8+ 2 =10 ’ -
9, 8
)6+ 4 =10 294+ 1 =10 10. 2
11. 4
31+ 9 =10 W54 8 =10 12. 1
13. 9
15 74+ 3 =10 1 34+ 7 =10 14. 8
15. 3
0+ 10 = 10 ® 44+ 6 =10 —
17. 10
198+ 2 =10 054 5 =10 18. 6
10, 2
_ 5
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Addingto Ten Name:
Solve each Problem. Answers
b +0=10 2 +9=10
- T 1
2.
9 +4=10 Y +8=10
S - 3.
4,
) +1=10 ) +3=10
- 5.
6.
N +2=10 9 +6=10
7.
8.
9 +7=10 05+ =10
9.
10.
M8+ =10 P4+ =10
11.
12
P 0+ =10 W7+ =10
13.
14,
U5+ =10 93+ =10
15.
16.
M2+ =10 B9+ =10
17.
18.
¥1+ =10 6+ =10
19.
20.
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Adding to Ten Name: Answer Key
Solve each Problem. Answers
V10 +0=10 2 1 +9=10
- - 1 10
2 1
9 6 +4=10 9 2 +8=10 i
3,
4, 2
® 9 +1=10 ® 7 +3=10
- 5, 9
6. /
78 +2=10 & 4 +6=10
- 7. 8
8, 4
9 3 +7=10 M54+ 5 =10
- 9. 3
10, S
W8+ 2 =10 Y4+ 6 =10
11, 2
12, 6
0+ 10 =10 W7+ 3 =10
13, 10
14, 3
B 5+ 5 =10 16 3+ 7 =10
15, 5
16, /
2+ 8 =10 9+ 1 =10
17, 8
19) _ 20 ~ 18, 1
1+ 9 =10 )6+ 4 =10
19, 9
20. 4
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Addingto Ten Name:
Solve each Problem. Answers
Y +2=10 ? +7=10
- - 1.
2.
9 +0=10 Y +5=10
- - 3.
4.
% +6=10 ® + 8=10
- 5.
6.
" +3=10 9 +1=10
7.
8.
9 +4=10 09+ =10
9.
10.
M3+ =10 P2+ =10
11.
12.
B7+ =10 W6+ =10
13.
14.
® 0+ =10 W4+ =10
15.
16.
M9+ =10 ®5+ =10
17.
18.
98+ =10 21+ =10
19.
20.
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Adding to Ten Name: Answer Key

Solve each Problem. Answers
Y 8 +2=10 2 3 +7=10 .

1.

2. 3
% 10 +0=10 4 5 +5=10 "

3.

a4 5
> 4 +6=10 % 2 +8=10 \

5.

6. 2
7" 7 +3=10 & 9 +1=10 i

7.

8. 9
9% 6 +4=10 M9+ 1 =10 ]

9.

10. 1
W3+ 7 =10 224+ 8 =10 7

11.

12. 8
¥7+ 3 =10 46+ 4 =10 ;

13.

14. 4
9 0+ 10 =10 94+ 6 =10 -

15.

16. 6
N9+ 1 =10 B 5+ 5 =10 1

17.

18. 5
98+ 2 =10 01+ 9 =10 )

19.

20. 9
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Addingto Ten Name:
Solve each Problem. Answers
D +4=10 2 +0=10
- - 1.
2.
I +1=10 Y +9=10
- - 3.
4.
) +8=10 % +2=10
- 5.
6.
N +5=10 9 +7=10
7.
8.
K +6=10 93+ =10
9.
10.
W5+ =10 D7+ =10
11.
12.
31+ =10 6+ =10
13.
14.
2+ =10 ©0+ =10
15.
16.
N9+ =10 98+ =10
17.
18.
W4+ =10 03+ =10
19.
20.
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P Tp——— Adding to Ten Name: Answer Key
Y g 4 4=10 > 10 + 0= 10 Answers
1 6
9 +1= 4 P
9 10 ) 1 +9=10
3, 9
5 o 4 g= 4, 1
2 +8=10 9 8 +2=10
5, 2
7) 5 + 5 — 8 o 8
10 ) 3 +7=10
7 5
9 4 +6=10 93+ 7 =10 ) :
9. 4
W5+ 5 =10 1274 3 =10 10. 7
11. 5
31+ 9 =10 WG4 4 =10 12. 3
13. 9
15 24+ 8 =10 19 0+ 10 = 10 14. 4
15. 8
M9+ 1 =10 ® g4+ 2 =10 e
17. 1
19)4+ 6:10 20)3_'_ 7:10 18. 2
19. 6
_ !
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Addingto Ten Name:
Solve each Problem. Answers

b +6=10 2 +2=10
- - 1.
2.

I +4=10 Y +9=10
S - 3.
4.

) +3=10 ©) +1=10
- 5.
6.

" +8=10 9 +7=10
7.
8.

9 +5=10 90+ =10
9.
10.

Mo+ =10 P4+ =10
11.
12.

B7+ =10 W8+ =10
13.
14.

2+ =10 93+ =10
15.
16.

M1+ =10 W6+ =10
17.
18.

®9+ =10 05+ =10
19.
20.
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Adding to Ten Name: Answer Key
Solve each Problem. Answers
V 4 +6=10 2 8 +2=10
- 1. 4
2, 8
¥ 6 +4=10 9 1 +9=10
- 3, 6
4, 1
® 7 +3=10 & 9 +1=10
- 5, /
6. 9
7 2 +8=10 & 3 +7=10
- 7. 2
8, 3
9 5 +5=10 Y0+ 10 =10
- 9. 5
10, 10
Mo+ 10=10 V2+ 6 =10
11. 10
1. 6
B 74+ 3 =10 984 2 =10
13. 3
14. 2
2+ 8 =10 103+ 7 =10
15, 8
17) _ 18 16. /
1+ 9 =10 )6+ 4 =10
17. 9
19) _ 20 18. 4
O+ 1 =10 )5+ 5 =10
19, 1
20. S
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Addingto Ten Name:
Solve each Problem. Answers
g +6=10 ? +0=10
- - 1
2.
>  +7=10 9 +8=10
- - 3.
4.
K +2=10 o +4=10
- 5.
6.
" +5=10 %  +9=10
7.
8.
9 +3=10 01+ =10
9.
10.
D3+ =10 Y0+ =10
11,
12,
P91+ =10 W2+ =10
13,
14,
U5+ =10 96+ =10
15.
16.
M4+ =10 7+ =10
17.
18.
98+ =10 P9+ =10
19.
20.
Math www.CommonCoreSheets.com 7 111-12% Zg Zg gg 28 Zg Zg 22 (158 555 5(;)
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P Tp——— Adding to Ten Name: Answer Key
D 4 4 6= 10 > 10 + 0= 10 Answers
1 4
9 3 4 7= 2. 10
3 +7=10 49 2 +8=10
3, 3
) 8 +2= 6 ) :
o 10 ) 6 +4=10
5, 8
D 5 4 Ee s 6
5=10 & 1 +9=10
7 5
9 7 + 3=10 10)1_|_ 9 =10 . :
9. /
1) 34+ 7 =10 2 0+ 10 = 10 10. 9
11, 7
31+ 9 =10 94 8 =10 12 10
13. 9
155+ 5 =10 19 6+ 4 =10 14. 8
15, 5
17)4+ 6 :10 18)7+ 3 :10 16. 4
17. 6
198+ 2 =10 2094 1 =10 18. 3
19, 2
_ 1
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Addingto Ten Name:
Solve each Problem. Answers
b +0=10 2 +6=10
- - 1.
2.
I +8=10 Y +2=10
S - 3.
4.
) + 7=10 ©) +3=10
- 5.
6.
N +5=10 9 +1=10
7.
8.
9 +4=10 09+ =10
9.
10.
W1+ =10 @6+ =10
11.
12.
¥ 9+ =10 92+ =10
13.
14.
B8+ =10 ©5+ =10
15.
16.
M4+ =10 B0+ =10
17.
18.
93+ =10 07+ =10
19.
20.
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|

Adding to Ten Name: Answer Key

Solve each Problem. Answers
Y 10 +0=10 2 4 +6=10 .

1.

2 £
¥ 2 +8=10 49 g +2=10 ,

3.

a4 8
> 3 +7=10 % 7 +3=10 .

5.

6. 7
7 5 +5=10 & 9 +1=10 i

7.

8, 9
9% 6 +4=10 M9+ 1 =10 ]

9.

10. 1
M1+ 9 =10 26+ 4 =10 ;

11.

12. £
9+ 1 =10 W24 8 =10 )

13.

14. 8
8+ 2 =10 ) 54+ 5 =10 )

15.

16. 5
4+ 6 =10 ¥ 0+ 10 =10 i

17.

18, 10
93+ 7 =10 20074+ 3 =10 i

19.

20. 3
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Addingto Ten Name:
Solve each Problem. Answers
b +5=10 2 +1=10
- - L
2
K +3=10 K +6=10
- - 3
4,
> +0=10 o +9=10
- 5.
6.
K +2=10 K +4=10
7.
8.
9 +8=10 07+ =10
0.
10.
Do+ =10 Y8+ =10
11.
12.
P 1+ =10 M7+ =10
13.
14.
®9+ =10 W4+ =10
15.
16.
N3+ =10 U6+ =10
17.
18.
W5+ =10 22+ =10
19.
20.
Math www.CommonCoreSheets.com 9 111-12% Zg Zg gg 28 Zg Zg ig (158 555 5(;)
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P Tp——— Adding to Ten Name: Answer Key

) £ 4+E=10 2 9 +1=10 Answers
1. 5
3) 7 + 3 — 4 > 9

[ 10 ) 4 +6=10
3, /
10 +0=10 9 1 +9=10 4. 4
- 5 10
78 +2= 8 ; :
_S 10 ) 6 +4=10

7. 8
9 2 +8=10 197+ 3 =10 ’ :
9, 2
W0+ 10 =10 22+ 2 =10 10 3
11. 10
31+ 9 =10 W74 3 =10 12. 2
13. 9
159+ 1 =10 19 44+ 6 =10 14. 3
15, 1
13+ 7 =10 18 61+ 4 =10 16. 6
17. /
954 5 =10 024 8 =10 B
10. S
_ 8
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Addingto Ten Name:
Solve each Problem. Answers
D +1=10 2 +0=10
- - 1
2.
X +5=10 K +3=10
- - 3.
4.
> +6=10 ® + 7=10
- 5.
6.
0 +4=10 K +2=10
7.
8.
K +9=10 98 +
9.
10.
W5+ =10 27+
11.
12.
®0o+ =10 W4+
13.
14,
93+ =10 19 2+
15.
16.
M9+ =10 91+
17.
© g+ =10 ) 6+
19.
20.
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|

P Tp——— Adding to Ten Name: Answer Key
D 9 +1=10 2 10 +0=10 Answers
1. 9
) 5 4+5= 2. 10
5=10 Y 7 +3=10
3, S
5 4 4+ 6= 4 7
6=10 % 3 +7=10
5, £
76 +4= 8 " :
_o 10 ) 8 +2=10
7. 6
9 1 +9=10 M8+ 2 =10 ) :
9. 1
W54+ 5 =10 1274 3 =10 10. 2
11. 5
190+ 10 =10 WA+ 6 =10 12 3
13. 10
15 3+ 7 =10 19 54+ 8 =10 14. 6
15, /
9+ 1 =10 1 11+ 9 =10 16. 8
17. 1
198+ 2 =10 0 64+ 4 =10 18. 9
10, 2
_ 4
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